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MOTIVATION

▸ Rich experimental data in three-body processes 

▸ Complicated structure of Hadrons  

▸ Direct calculation of three-body processes are extremely 
hard
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▸ Quark triplet 

▸ Meson octet

SU(3) METHOD
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SU(3) METHOD

▸ Baryon octet 

▸ Charmed baryon anti-triplet
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SU(3) METHOD

EFFECTIVE HAMILTONIAN IN SU(3) LANGUAGE

▸ Effective Hamiltonian : 
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✏uqq0(ūq)(q̄c)⌥ (q̄0q0)(ūc)
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SU(3) METHOD

EFFECTIVE HAMILTONIAN IN SU(3) LANGUAGE

▸ Effective Hamiltonian : 

H(6) =

0

@
0 0 0
0 2 �2sc
0 �2sc 2s2c

1

A

sc = sin ✓c

H
2
13(15) = H

2
31(15) = 1

H
2
12(15) = H

2
21(15) = �H

3
13(15) = �H

3
31(15) = sc

H
3
12(15) = H

3
21(15) = �s

2
c

HSU(3) =
GF
p
2
[c�H(6)ij + c+H(15)klm]

6

(c�, c+) = (1.78, 0.76)
<latexit sha1_base64="WXBabra0cJkTg5y7ojKRH9/0Pjs="></latexit><latexit sha1_base64="WXBabra0cJkTg5y7ojKRH9/0Pjs="></latexit><latexit sha1_base64="WXBabra0cJkTg5y7ojKRH9/0Pjs="></latexit><latexit sha1_base64="WXBabra0cJkTg5y7ojKRH9/0Pjs="></latexit>



SU(3) METHOD

EFFECTIVE HAMILTONIAN IN SU(3) LANGUAGE

▸ Effective Hamiltonian : 

H(6) =

0

@
0 0 0
0 2 �2sc
0 �2sc 2s2c

1

A

sc = sin ✓c

H
2
13(15) = H

2
31(15) = 1

H
2
12(15) = H

2
21(15) = �H

3
13(15) = �H

3
31(15) = sc

H
3
12(15) = H

3
21(15) = �s

2
c

HSU(3) =
GF
p
2
[c�H(6)ij + c+H(15)klm]

6

HSU(3) =
GF
p
2
[c�H(6)ij + c+H(15)klm]

(c�, c+) = (1.78, 0.76)
<latexit sha1_base64="WXBabra0cJkTg5y7ojKRH9/0Pjs="></latexit><latexit sha1_base64="WXBabra0cJkTg5y7ojKRH9/0Pjs="></latexit><latexit sha1_base64="WXBabra0cJkTg5y7ojKRH9/0Pjs="></latexit><latexit sha1_base64="WXBabra0cJkTg5y7ojKRH9/0Pjs="></latexit>



IRREDUCIBLE AMPLITUDES

CHARMED BARYON DECAY

7

!
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>3̄

<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>

8⌦ 8⌦ 8
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>

Bc
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>

BMM 0
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>

!
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>



IRREDUCIBLE AMPLITUDES

CHARMED BARYON DECAY

7

!
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>3̄

<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>

8⌦ 8⌦ 8
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>

Bc
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>

BMM 0
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>

!
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>



IRREDUCIBLE AMPLITUDES

MESON PAIR FLAVOR TENSOR
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MESON PAIR FLAVOR TENSOR

Symmetric
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MINIMUM CHI-SQUARE FITTING

NUMERICAL RESULTS
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SOME PREDICTIONS

NUMERICAL RESULTS
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▸ Some predictions

THREE-BODY DECAYS

NUMERICAL RESULTS
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SUMMARY
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▸ Decay amplitudes of different                               are linked 
by SU(3) flavor symmetry 

▸                                  only have contributions of odd angular 
momentum of meson pair.
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